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CHRONOFLASH 30 TL

< Lastkurven
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30m 3 »11,1 12 13 14 m 101 11 12 13 14 15 16 17 183 19 21 23 25 26 28 30 m
s 4000 3645 3295 3000 kg 4000 3600 3215 2900 2640 2420 2230 2065 - 1795 1585 1410 1265 1205 1095 1000 kg
= 2000 1915 1700 1520 1375 1310 1200 1100 kg

NP A

25m 3 »111 12 13 14 m 108 11 12 13 14 15 16 17 18 196 21 23 25 m
A N if 4000 3645 3295 3000 kg 4000 3935 3520 3180 2895 2655 2450 2270 2115 - 1745 1555 1400 kg

= 2000 1850 1660 1500 kg
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< Ausleger in Steilstellung
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3om 3 » 172182 19 21 23 25 26 28 298 m
mae T 2000 - 1770 1565 1395 1255 1190 1085 1000 kg
) 2000 1900 1685 1510 1365 1300 1190 1100 kg
3 » 186 19 195 21 23 248 m
ol 2000 1950 - 1725 1540 1400 kg
) 2000 1830 1640 1500 kg
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TAVAL

284 m
1000 kg
1100 kg

23,7 m

1000 kg

1100 kg

R \¢ Verfahrbare Laufkatze

A‘CE Verfahrbare Laufkatze und Lastkurven

<. Cadillon



